SLJIL PELLAJARAN MALAYSIA 2016
PAPER 1

1 5 Omega. The standard deviation of the marks of
S Omega is the lowest among the three classes.

2 (@) S={H.H,H, D, (T,H, (T D)
b)) X=0,1,2

3 (a) Number of different ways = 5!
| = 120
(b) Number of different ways =3 X 3! X 2
=3 X6 X2=36

4 (a) Pl‘ob_ability=(3 xg) + (i _‘7!. =.3

7 7 49
- 4 3 3 3. 4 3y
(b) Probablhty--(7 X B X 7) + (7 X - X 7.)
__12 |
= 343
5 J;h(2x—6)dx=—4
) h
[&xz————{ix] =4
2 1

h* — 6h = (1 —6) +4=0
h* — 6h +9=0

(h — 3)(h — 3)=0
h—3=0

h=3



6 V=125
Let the length of side be x em,

¥=125=58

x=5

A = 6x?

dA i

dr =12 =12 X 52 =300

dA  dA  dx

dt  dx _d[_
dx

15 =300 x —
di

ox 15

———

I
di =300 =59 m s’

7 (a) ALP,y=0, 2x—6

x+2
Y x+2)2-@x-6)1
dx (x + 2)
2 +4-2x+ 6
TE
10
T+ 2)?

dy 10 1)
AP, ——=—— =

8 (0,5k) :x=0,y=5k |
2y=3x+h+k

25k) =0+ h +k
10k = k=h
h=9% |
9 (a) mm,=~1 3 xg=-1

Aa-

10x = -30
x=-3
y===-9+4+4=-5
F'("3."‘.5)

10 (a) .Zf?é—EE-{-Eﬁ:IE-#EF:ﬁ

(b) AB = OB - OA 0

il
|ABI=3 units

s
=

A B
—
Unit vector in the direction of AB




(b) Je(x) =92 + 6x— 4 C 17 3x2+8x+7=0
fBx+1)=92+6x—4 a=3.b=8,c=17
Lel.'i.r-#szw.thenx:u_I | u+[3=_.{’_=_.§_

_ 3 a 3
W=o(X TV 4 1) | apec-l
Sy =9[4 ) + 61 ~) ~ 4 ap=<=]
Nu — 1)2 Sum of new roofs = 3a + 3B
e A —_ a—
5 20u—1)—4 | — 3+ B)
= —2u+1+2u—-2-4 | _3_8
fuy=1 — 5 - ’(—_T)
fx)y=x*-5 | = =8
| Product of new roots = 3a X 3B
14 (a) log, 49 =log 72 | = 9ap
=2log 7=2r | 7
(b) log, 343 &* = log, 343 + log, @’ J - 9(?)
=log, 7" + 2log, a [ =21
=3log, 7 + 2( I )= 1+2 | The equation is x> — (=8)x + 21 =0
log, 7 r xX+8x+21=0
15 P=5

18 iv)y=x*+2wx + 3w —2

3=
log 3" = log 59 a=1,b=2w,c=3w—2

plog3=gqglog5 b — dac < 0
log3=T1ogs L. ®  @wP - 43w —2) <0
P 4w’ — 12w + 8 <0
5¢=15 | w'—3w+2<0
q=hrx r |
log 59=log (3" X §) ,
=log 3" + log 5 ’ i 3 w
glog5=rlog3 +rlog5 ... @) |
Substitute () into 2) : 1<w<?2
log 5 - p<w<g
qlogS:r(q_pb_)ﬁ-rlogS Thus,p=1,g=2
rq
g= B + 7 19 (a) Length of arc AB=16 cm
=
pg=r(qg +p) _ -
0 = 2 radians
- pf - (b) 6+ x=2n
P q‘ : x=2n— 9
16 ve2x? — 9 =2(3.142) — 2 = 4.284 radians
y=2x — L
X Area of major sector OAB = — r’x
=2 ~g 2
Y:mX+c " 3 . =%.x82x4_284
m=2c¢= -l =
R "m0 =137.088
=10 =137.1.cm?
" h
2h =10 20 tana=4 — 3 cota
h=5 43
c=3 —-g=3 anai=4 tan «

) =-3 tana=4tana — 3



an’a —4tanq + 3=
(tan o — 1)(tana—3)=0
tana =1
a =45°
ortana =3
a=71° 34"
Thus, a = 45°, 71° 34’

- 21 Condensed milk: 70, 65, 60, ...

a=70,d=-5 I'=a+(n-1)d
=70 + (n = 1)-5)
=70 ~-5n+S5
T' =75—-5n ... @
Evaporated milk: 48, 45, 42, ...
a=48,d=-3 T =a+ ;- 1)d
=48 + (n — 1)(-3)
i . =48 —3n+3
. =51 ~ 8n, AN @
@®=@: 75-5n=51-3n
15— 51 =5n—3n
. 2n=24
=12
. After 12 days, the remainder numbers of cans are
the same.
E- 2x—=1 1
2 (@) ——1 =5
2(2x —T)=x+1
4x — 4= 2
4x—x:14+1
3x=15
x=3
T[2=x+.1
art=5+1

3 :r: 1.125,n=15

|
411251 =)
5= 71125 - 1

- 2588 hours

| 24 (@) n=3,

25

PX=r=Cp (1—-py"
PX=3)=3Cp’(l1 - py

27 .
——=1X X 1
M p
3 3
r=(3)
3
P
(b) P(lifespan more than 6 months) =1 — p
3
=il =
]
=4
1
Number of bulbs = 20 X T 5
13¢m
xcm
(8 — 2x)cm
1 xcm
Total area = 20 cm*

\ X]




